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Pértico 10 V-325: 15/40

V-326: 15/40

V-327: 15/40

V-328: 15/40

V-329: 15/40

V-330: 15/40

Resumo Ago |Comp. total|Peso+10%
Piso 3 (m) (kg) |Total
Vigas
CA-50-A ¢6.3 30.8 8
28 26.2 24
?10 1163.7 804
®12.5 203.5 220 1056
CA-60-B @5 1058.0 183 183
Total 1239

Piso 3 — Superficie total: 271.49 m2
Elemento Superficies (m2)|Volume (m3)|Vardes (Kg)
Lajes 241.13 21.23 412
Vigas 28.32 11.93 1240
Cofragem lateral 97.52
Pilares (Sup. Cofragem) 80.70 5.37 588
Total 447.67 58.53 2240
indices (por m2) 1.649 0.142 8.25
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